Name: grade:

Instructions: Work out each of the following questions and place
ONLY your final answer in the box

Evaluate the following:

a)(-16) - (2) = b) (-20)+(-30) _____
c) 9+ (-9) +5 = d)(-34)-(-6)=___
e)(-12) -7 = f)70+12-(-32) =
g)(-56)+78= h) (-3)- (-4)=
i) 8+(-4)+ (-12)=___ ) (-13) +(4)=
K)-45-(-45)=__ L)6+(-8)}+(3)=__

M) At 6:00 pm the temperature in New Providence was
87 Degree Celsius, by 10:00 pm the temperature
decreased by 12 degrees Celsius. Write an expression
to show this information then solve.

Expression: Solution:




